/ Girt

Door Jamb/
Endwall Column
4 O O (Shape May Vary)
)
:\{I— \;
O O
Girt

3

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO

Girt to "C” Door Jamb/Endwall Column Connection| S[)43




/ Girt
— Clip
CL-100
Door Jamb/
Endwall Column
5, O O W (Shape May Vary)
<]
3 i imi
D Vi)
.,
O O N clip
CL-103

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE
INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

Note: All connection bolts are 1/2" x 1 1/4" machine bolts unless noted.

DRAWING NO

Girt to "C” Door Jamb/Endwall Column Connection| S[)43




1.3/4

Opening Jamb
/ 5/8" Anchor Rods (Typ.)

All Bolts are 1/2" x 17
Fin Necks (Typ. UN.)

. S Ry NOTE:
@ -— 253
O+ 5%
A 1
I
xSteel Line
Base Clip
/ CL—104
=§ [”P Finish Floor
Com |/
o e

w/8" Jamb-2 1/2
w/10" Jamb-3 1/2"
w/127 Jamb—4 1/2”

/7 Finish Floor

Created On: 5/25/12

Jamb to Floor

DRAWING NO.

5089




CL-103 Clip
NOTE:
All Bolts are 1/2" x 1 1/4
A307 M. Bolts \ l
N
o] 9
2
o | 4
l
\Door Jamb
Wall Girt
CL-103
L~
ami ami = _(T) /
- gy
© @© |
© / Q

——1/2" x 1" Fin Necks /

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE

INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

THE DRAWINGS ABOVE ARE TOED DOWN FOR REFERENCE.

DRAWING NO.

5087/

Girt to Jamb (Bolted Clips)




Eave Purlin

NOTE:
Al Bolts are 1/2" x 1 1/4
A307 Mach. Bolts

W.P.

Eave Purlin
x To Jamb Clip
= GW-500

Door Jamb
N

Created On: 9/2/11

DRAWING NO.

Jamb To Eave Strut
7:12 Roof Pitch_and Higher 5D39




NOTE: ) ) ——— Steel Line
All Bolts are 1/2 X 1 1/4
A307 Mach. Bolts
1 1
| im imy
g \
CL—103
|
AN A\ Jamb
/
- 1 1/2"
. I .
< =
P
N \—
] j lee Girt
{ CL—103
—- Jamb

\/\

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE LEFT OF THE
INTENDED JAMB LINE, THE CLIP(S) IN REFERENCE ARE TOED LEFT.
IF RIGHT OF THE JAMB LINE, THEN TOED RIGHT.
THE DRAWINGS ABOVE ARE TOED LEFT FOR REFERENCE.

DRAWING NO.

Jamb to Girt SD93




NOTE: ) |~ Steel Line
All Bolts are 1/2" x 1 1/4
A307 Mach. Bolts

(D (LD

= \\\\¥__
CL-9
/Jomb

1 7/8"
. 0 ~
<<
T =<
- \_
Header Zee Girt
CL-9
Jamb

DRAWING NO.

Jamb to Header Girt SD94




NOTE:
All Bolts are 1/2"¢ x

A307 M. Bolts (UN No’lejj)/dr A
1/2" x 1" Fin Necks
i
N il i 1@y
- / L
- ii |5 1@,

|
Wall Girt —/ \Door Jamb \Heoder

$ / CL-100
_ H/
S H—Ep e
CL-103 ﬁf N \
Header
~ o \ 1/2" x 1" Fin Necks
Lg_] |
d]/i_\
4/ :Q
Wall Girt “ B

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE

INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

THE DRAWINGS ABOVE ARE TOED DOWN FOR REFERENCE.

DRAWING NO

50995

Girt/Header to Jamb




NOTE:
All Bolts are 1/2" x 1 1/4"
A307 M. Bolts [
&
-
&
|
\Door Jamb
Wall Girt
1| am - 0T
P h Iwy
DRAWING NO.
Girt to Jamb SD96




— )
Eave Strutﬁ\
W.P.
Eave Strut
™~ To Jamb Clip
=N M CL-8
5=
u NOTE:
All Bolts are 1/2" x 1 1/4”
A307 Mach. Bolts
Door Jombﬁ\

Low Eave Condition

r//— Fave Strut

W.P.
Eave Strut

To Jamb Clip
CL-8 W

|
y

Door Jamb
/7

High Eave Condition

DRAWING NO.
Jamb To Eave Strut

Created On: 9/2/11

2:12 Roof Pifch and Higher SD97/




Header/Sill to Jamb

L 1/4” L 1/4”
a5
= <
|5
l
Door Jamb \Heoder \Door Jamb \Heoder
Option 1 Option 2
A $ﬁ e
, (2) 1/2" x 11/4
® /A307 M. Bolts
=2 - - -
\\_ l I \\_
Header \ Header
)1/2" x 1
Fm Necks
j/L_\~Door Jamb A /L_\~Door Jamb
DRAWING NO.

5093




—— Steel Line Field Weld or

Attach with
10x1” Pancake

Girt wd Head Screws
\ @ 12" 0.C.

‘ ,
3 Ih;w
.

A
| \
:'; Girt Header ©
£ (Field Attach)
)

O MEMBER TABLE

/EE Size

Piece Mark

8

GH-1

10”

GH-2

1277

GH-J

DRAWING NO.

Framed Opening w/ Girt Header SD104




o Column 1/2" x 1 1/4 Door Jamb
(Orientation may vary) F A307 M. Bolts ;7 /

] O €
6] é 6]
e \CL—103
SAT (Field Cut) — | ‘
w/(4) Flat Head Varies (Up to 1-6") |
Fasteners
(RF1)
Column \ 1/2" x 1 1/4 Door Jamb
A307 M. Bolts
CL—-103
O €
Pre—Drill Holes for —— /
(2) Flat Head :
Fasteners k @ @D

(RF1) — 1 i1 %
SA1 (Field Cut) —/ N (2) Flat Head

Varies (Up to 1'-6") Fasteners
(RF1)

DRAWING NO.

Column to Door Jamb Clip Attachment SD113

Created On: 4/29/22




o Column 1/2" x 1 1/4 Door Jamb
(Orientation may vary) F A307 M. Bolts ;7 /

3
4

Y
~
L4 L %\CH
SAT (Field Cut) — |
w/(4) Flat Head Varies (Up to 1'-6")
Fasteners
(RF1)

Column \ 1/2" x 11/4 Door Jamb
A307 M. Bolts ii i
CL-3

Pre—Drill Holes for ——

SEN N

(2) Flat Head \
Fasteners N\
(RF1) —kh %
SA1 (Field Cut) B NN (2) Flot Head
Varies (Up to 1'-6") Fasteners
(RF1)
DRAWING NO.

Column to Door Jamb Clip Attachment SD114

Created On: 5/27/11




—,— Header Cee Girt

0 _,/—1/2” X ,]n
A307 Bolts

CL-100

A
P
A ‘ Jamb
@ .0
/" /
/\/

1/4"

\ N\

1/2” X 1” Fiﬂ NeCk%

'] 1/2;;

F Header Cee Girt

=

¥1/2” X 1,,

jﬂ A307 Bolts
/ CL—100
1/2" x 1" Fin Neck

Jamb

DRAWING NO.
Jamb to Header Girt

SD122




NOTE:
All Bolts are 1/2" x 1 1/4"

A307 M. Bolt
/7 Main Frame Column
4”
CL=103 C'p\
e [ S :
I I = -
o o Yo €
_— | |
I I
I
o O O 5
:::IEEEEEEEEI:::::::::::::;:_: l
\Door Jamb
Wall Girt

ERECTOR NOTE: IF CLIP BOXES ON BUILDING ELEVATION VIEW(S) ARE BELOW THE
INTENDED GIRT LINE, THE CLIP(S) IN REFERENCE ARE TOED DOWN.
IF ABOVE THE GIRT LINE, THEN TOED UP.

DRAWING NO.

No Lap Near Framed Opening SD1606

Created On : 04/29/22




	SD43
	SD43A
	SD85
	SD87
	SD89
	SD93
	SD94
	SD95
	SD96
	SD97
	SD98
	SD104
	SD113
	SD114
	SD122
	SD166

